                              MATH ASSIGNMENT-3                 				
CLASS – 2ND                                                        				      ROLL NO  - ____   
Q1. Complete the following:
i. 5+5+5+5 = 5x _____ = 20
ii. 7+7+7 = ____ x 3 =21
iii. 9+9+9 = ____x 3 = 27
iv. 2+2+2+2+2 = 2 x ____ = _____
Q2. Fill in the blanks:
i) 5 x ____ = 10
ii) 7 x 0 = ____
iii) ____ x 13 = 0
iv) 2 x ____ = 2
v) 10 x 5 = ____
Q3. Solve the following sums:
i)    2  3				ii)    2  8		iii)   6  5
    x    4				   x      3			    x      5
       ___				  _____			    _____
iv)  1 3 9			v)    1 6 0		vi)  1 8 9
     x     2			   x        5		     x     4
       ___				  ______		     _____
Q4. Problem Solving Sums:
Sum 1:  1 packet has 50 candies. How many candies are in 7 packets?
Sum 2:  Rohan spends Rs. 210 in a month on transport. How much does he spend in 4 months?

